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At the commencement of examination, the question booklet
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(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),
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the correct response against each item.
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
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identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.
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DEFENCE AND STRATEGIC STUDIES
Paper III
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Time Allowed : 2% Hours]

Note : This paper contains Seventy Five (75) multiple choice questions. Each

[Maximum Marks : 150

question carrying Two (2) marks. Attempt A// questions.

U Sed. @d U G

AT ¢ A TRAUCThA THYT el (75) sgadrt Tee fo ofed. g TR g (2)

As propounded by Kautilya, which
one of the following was not
identified as the agent of the secret
service to gather intelligence ?

(A) Grihpatik
(B) Shasanhar
(C) Kaptik
(D) Mukta

Defence and strategic studies is
intertwined largely with which one
of the following ?

(A) A study of the evolution of
warfare

(B) A study of the use of military
power for political objectives

(C) A study of the use of soft and
hard power for socio-economic
objectives

(D) A study of military policies in
the information age

FHIfeTaT=AT RO JHIY! T Terdeh! hIvTd
e W Hifed! STHT Hogry fHaset e
& ?

(A) TEufos

(B) IMETRR

(C) &9t

(D) Hd
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(C) gmifSer 9 ffefer SEaEdl I
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(D) wfedt A Jf e GRM=T S1vm9
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Who among the following opined
that ‘the great power that
dominated Eurasia would effectively

dominate the world” ?

(A) Halford Mackinder

(B) N. J. Spykman

(C) Kjellen

(D) Immanuel Kant

Which one of the following is not
marked as a principle of Guerrilla

warfare ?

(A) Surprise and deception

(B) Mobility

(C) Offensive action

(D) Deep penetration into enemy’s

front
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Who among the following stated that
‘geopolitics was an example of the
fallacy of single factor’ in the

international relations ?

(A) Henry Kissinger

(B) Colin Gray

(C) Hans J. Morgenthau

(D) Robert Jervis

As per Indian Constitution which
one of the following is the supreme
commander of Indian Armed

Forces ?

(A) Defence Minister

(B) Prime Minister

(C) President

(D) Chief of Staff Committee

5.
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Defence expenditure of a state is

primarily determined by which of

the following ?

(A) Foreign policy
(B) Technology

(C) Threat perception
(D) Communication

Who among the following
emphasized that “security is freedom

of insecurity” ?

(A) Manning

(B) Robert S. McNamara
(C) Barry Buzan

(D) Kenneth Waltz

The recent theory suggesting the
movement of the continents relative
to one another is the which one of

the following :

(A) Continental drift theory
(B) Kant theory

(C) Plate tectonics theory

(D) Tetrahedral theory
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10.

11.

The origins of detente can be traced

to the lessons of :

(A) Use of atomic weapons in

Hiroshima and Nagasaki

(B) The Cuban Missile Crisis, 1962

(C) Nixon’s Visit to China in 1972

(D) Soviet Intervention in 1979

Neo-realism or structural realism is

a theory of International Relations

first outlined by :

(A) E. H. Carr

(B) Reinhold Niebuhr

(C) Hans J. Morgenthau

(D) Kenneth Waltz

10.

11.
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12.

13.

National Interest could be defined

as :

(A) The interest of the majority and

minority group in a country

(B) The general and continuing
objectives for which a nation

acts

(C) The interest of democratic

parties

(D) The interest of ruling parties

The Indian Coast Guard comes

under the following :

(A) Prime Minister’s Office

(B) Ministry of Defence

(C) Ministry of Home

(D) National Security Council
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14. Match the States and their Ethnic

15.

groups :

States
(1) Afghanistan
(i) Turkey
(7i7) Canada
(iv) Nigeria

Ethnic Groups
(a) Kurds
(b) Quebecois
(¢ Pashtuns
(d) Yorubas
Codes

D G @) (v

A (o0 b (@ (a
B) (o0 (@ B (@
©C) (@ (o0 @ b
D) (@ (@ ((© b

Who among the following stated that
‘the central theme of International
relations is not evil, but tragedy’ ?

(A) Barry Buzan
(B) Robert Jervis
(C) Raymond Aron
(D) Stephen Walt

14.

15.
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16.

17.

Who among the following defined
war as an ‘organised violence carried
out by political units against each

other’ ?

(A) Quincy Wright

(B) Raymond Aron

(C) Headly Bull

(D) Carl Von Clausewitz

The Universal Declaration of Human
Rights implies to which one of the

following ?

(A) Responsibility of prisoners of

war

(B) Charter of the duties of

indigenous people

(C) Charter of the declaration of

colonial people

(D) The authoritative statement of
those basic rights to what all are

entitled

16.

17.
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18.

19.

NATO stands for :

(A) North Armament Treaty

Organisation

(B) Noth American Territorial

Organisation

(C) North Atlantic Treaty

Organisation

(D) Northern Alliance Terrorist

Organisation

Who said that “War is a politics with
bloodshed and politics is a war

without bloodshed” ?

(A) Quincy Wright

(B) Evan Luard

(C) Clausewitz

(D) Mao Tse Tung

18.

19.
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‘R e ot faRaR eTm SR

(A) T miHe T ATHERRH

(B) et mafere 2fEife swiamEsie

(C) e et H mHEETE

(D) e TamEH TS ANAESYH
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20. India conducted first P.N.E.

21.

on :

(A) 18th May 1974

(B) 11th May 1999

(C) 13th May 1998

(D) 25th July 1999

Simla Agreement between India and

Pakistan lays stress on resolution of

their disputes through the :

(A) Bilateral Negotiations

(B) Non-Aligned Movement

(C) Super Power Mediation

(D) United Nations
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20. YRAH Ufgell T =M=l e TSI

21.

et ?

(A) 18 ® 1974

B) 11 7 1999

(C) 13 H 1998

(D) 25 JeI 1999
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22. Who believed that war preserved the | 22. ‘Jg ¥ U=l Afaw vkt e Tew
ethical health of nations ? TTeleieh! HIVTE § IR 3Ted 7
(A) Harold Mackinder (A) Bee Hishey
(B) G.W.F. Hegel (B) Sit. €= ThH. A
(C) Hobbes (C) ®Isd
(D) Karl Marx (D) el TR
23. Operation Shakti was conducted by | 23. ‘STQEH Rl 9RAW hel S
India in : A ?
(A) 1971 (A) 1971
(B) 1974 (B) 1974
(C) 1998 (C) 1998
(D) 1999 (D) 1999
13 [P.T.O.
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24. Arrange the following organization 24 wele SueATE WW e

in ascending chronological order of

o

FIARATAR ST Fehar=ar SR

their establishment with the help of

the codes given below : U
(a) General Agreement on Trade (3) SAUR o Sohid TR Te@Temon
and Tariff (GATT) .
Tgadl (TMe)

(b) International Monetary Fund

(b) SRS =70y et (7. TH. Th.)
(IMF)

(0 World Trade Organization () ST TR W (S, 2. )

(WTO)

(d) IR 9 fogwm@Emt Srfas 96

(d) International Bank of

(3TE. & . EI.)
Reconstruction and Development
(IBRD) Hehdich :

Codes A (d (b (a (o

A (@0 (b (& (o
B) (b (0 (@ (a

B) b (0 (@ (2

©) (@ @ (@ b
©) (@ @ (@ OB

D (0 (@ b (@ D (o0 (@ Wb (d

14



25.

26.

India has been involved with Sri

Lankan Ethnic conflict owing to :

(A) Ethnic linkages of Indian

Tamili

(B) India projecting her image as

a dominant power in South Asia

(C) Goodwill as a Neighbour

(D) To prevent the intervention of

outsides

Who among the following wrote the

book entitled, “The Study of War” ?

(A) Karl Marx

(B) Mao-Tse-Tung

(C) Ho-Chi-Minh

(D) Quincy Wright

25.

26.

JAN - 16318/III—A

SficTeh=A1 AT TEATHES YR T[aet el

(A) YRATITA dTHIS AR SR oY
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27.

28.

29.

N.M.D. refers to which one of the

following ?

(A) Non-Military Development
(B) Neutralised Military Defence
(C) Nuclear Missile Defence

(D) National Missile Defence

Which year India sent its forces

(IPKF) in Sri Lanka ?
(A) 1985
(B) 1986
(C) 1988
(D) 1987

The concept of self-determination

was conceived as :

(A) Political independence of

colonies

(B) The right of ethnic groups to

formulate the economic policies

(C) Defence of colonialism

(D)

Political independence of ethnic

or National Communities

27.

28.

29.

JAN - 16318/III—A

T, TWH. El. o Weliciish] v -

AqE ?

(C) FIfrarsr e fedhw
(D) e fHEEa fem=

IRAW U ¥ (3T . &. Th.)
Scrhaedl Hhegl defaa ?

(A) 1985
(B) 1986
(C) 1988

(D) 1987

g frofaren deeaaen ARl B9

(A) THERAT USThiT WIdH

(B) aifyrer T enifeier €T e

ATYHRR

(C) THrEadera GI&m

(D) wif¥Teh ST U TR TSTh

A <0
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30. SALT-I and II are examples of :

31.

32.

(A) Disarmament
(B) Arms Trade
(C) Armament Proliferation

(D) Arms Control

According to India, what is the
approximate length of the India-

China border ?
(A) 2000 kms
(B) 3000 kms
(C) 4000 kms
(D) 5000 kms

Who among the following opined
that “Climate change will be a bigger
threat than International Terrorism

in the years to come” ?
(A) David King
(B) Colin Gray
(C) Rajendra Pachaury

(D) Sunita Narain

JAN - 16318/III—A

30. Hiee I 370 Hiee 11 § Eiciieiueh! shivfe

31.

32.

e Tefd Ted ?
(A) TreTEtaRTo

(B) &M= AR

(C) I YER

(D) IRSTER aen ()

TRATSAT TOUATHR RA-< 1 HTHe el

koA fohel omR ?
(A) 2000 fepst.
(B) 3000 ferit.
(C) 4000 foret.

(D) 5000 fet.

‘Tl HTEHES FIAEUdld Sed ©

ST TRIATGTIET ek Hia &iht

TR A’ ¥ WeAerdehl S A
e ?

(A) Zfwe far

(B) hifer 3

(C) TSig TR

(D) gl TR
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33.

34.

Who among the following stated

that “religion is vitamin for the

masses” ?

(A) Karl Marx

(B) Regis Debray

(C) A. H. Nasutian

(D) Ho Chi Minh

Who set out to make geopolitics a

legitimate area of academic

inquiry ?

(A) Mahan

(B) Mackinder

(C) Haushofer

(D) Machiavelli

33.

34.
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‘e gmEe o § feefia R ®

Eeiledehl hI0MME Ad 378 ?

(A) =T A

(B) 9 <o

(C) W TH. TR

(D) = =t =

q-vSdET Sterfors  srearEwmET

HAEY B0 AT SA1e ST YfHeRT
HIvi AEE ?

(A) HEH

(B) HehX

(C) BrErw

(D) Hisheredt
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35. Arrange the following events/ | 35 Weiial SeA/FHEAR! SN TSeal a9

operations in their ascending T T, Wt e Tahdiemren
)
chronological order of occurrence .
YR U9 HIEUt &Y :

and use the codes given below :

(I) SeT/wEarel Afa U=

(I) Operation Rolling Thunder

(II) SIe1/shEerel Hfsie hrie

(IT) Operation Magic Carpet

(II1) T=eA/HTIaTE]  STTiES
(ITI) Operation Anthropoid

(IV) "I&/wEaRl S S T
(IV) Operation Wrath of God

TUrEy
Codes :

A (@O dn dIn av)
A O dan dn av

B) () D) av)
B) I D) aV) @ B aDh b -avy @

(¢ adn avy @ dn (C) dmn (av)y @O dn

D) dn dan aO av D) dn adp @O dv)

19 [P.T.O.



36. Humanitarian intervention :

(1)

(1)

(1)

(A)

(B)

(®)

(D)

is a military intervention

carried out in pursuit of

humanitarian rather than

strategic objectives

presumes the acceptance of such

universal doctrines as human

rights

gets support from the people as

it is fought for a moral cause

Only (1) is correct

Only (1) and (i1) are correct

Only (i) and (z7) are correct

All three are correct

JAN - 16318/III—A

36. HWHEAEREI GRLHMNT holel T

R

() TWReh Tog W HHaaER! SEeHE6!

Hotel IRt 8T

(i) WGl BoFh] IREAT SINTfAeh decel—

Ul SR e &=l
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o N
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(A) T () SR 2R®
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87. Arrange the following military | o7 g S/ S9N TSed asn
operations in their ascending -
g&cd] HIAGHATIATO, Hida fgaedn
chronological order of their ) .
: Hehdl=Al YR HISUl Y :
occurrence and use the codes given
below : 1) wA/wEAE T T
(I)  Operation Urgent Furry (I1) =e/wEarE feie fos
(II) Operation Crescent Wind (I11) SIeAT/HhTHaTEl e ShIfuae
(III) Operation Spartan Scarpion (V) J £
(IV) Operation Overlord .
Hehdich :
Codes
A) (@D (I dIm av)
A D (I) (I (IQv)
(B) dn dm avy @
(B) dn dim avy @
© avy @O dn di
© avy @O dn (d
D) dan avy «a@ dn O b avy @  a
38. Who among the following is known | 38. Th{l EERME Hidl AT Hehed=l
as proponent of Revolution in ST IS ISEE AR IR
Military Action (RMA) ? ’
(A) w1l & G0
(A) Mao Tse Tung
(B) Andrew Marshall (B) #153L
(C) Mussolini (C) HHIet
(D) Henry Kissinger (D) T fpfasr
21 [P.T.O.



39.

40.

41.

Which of the following is not a

member of the Nuclear Suppliers

Group (NSG) ?
(A) China

(B) Albania
(C) Germany
(D) Estonia

The first nation to give up all its

nuclear arms was :
(A) Awustralia

(B) Sweden

(C) Switzerland
(D) South Africa

Which one of the following is related

to prisoners of war ?

(A) Copenhagen Conference
(B) London Club

(C) Geneva Convention

(D) SAARC Convention

39.

40.

41.
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TeTeTdeh! ShIVAT ¥ 379] YRaal Ter=
qaEE E ?

(A) =

(B) Sfefenfn

(C) ST

(D) s&Ifan

smfvaesh ¥EA WA QU ufean 39
IO ?

(A) smefern

(B) wred

(C) Terggrele

(D) 9W=EY 3R

T Tedehl VA J§ hareal sTedid
e ?

(A) IO TRE

(B) e e

(C) e s (efies)

(D) 9 HIR (=ANTEH)
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42.

43.

Which one of the following is the

main cause of Jihadi terrorism ?
(A) Spread of communism

(B) Globalisation

(C) Armament proliferation

(D) Use of violence in the name of

Islamic radicalism

Who regarded war as the “Midwife

of Change” ?

(A) G. W. F. Hegel
(B) E. H. Carr

(C) 1. V. A. Lenin

(D) Carl Von Clausewitz

42.

43.

JAN - 16318/III—A

RIS SReIdaere &I Ul SHhivd ?

(A) HHH A=A TER
(B) SR TeRol
(C) T&= FER

SN

Q=T ST Shedl

(D) SEATHR STRIAae™

‘g5 § -l gEU IR’ SH I
B/ ?

(A) St S=. Th. &

(B) ¥ TH. FN

(C) 3. =&I. T ofF

(D) ®Tet =M FArafa

44. The cause of Gulf War 1991 was : | 44. 1991 =1 3M@rd Jg& HRU :
(A) Territory and Natural (A) T S
Resources of Kuwait
(B) 3hdX sheall
(B) Control of Iraq
(C) US action in West Asia (C) fy=m oTiyrammed sl hRaR
(D) None of the above (D) SeTieh! hIvTAR! &l
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45. Amongst the following which is not

46.

considered as the perpetual cause of

global warming ?

(A) Desertification

(B) Deforestation

(C) Ecology

(D) Pollution

Peace building includes :

(1)

reintegrating former combatants

into civilian society

(i) strengthening the rule of law

through training
(i11) restructuring local police

(iv) impairing respect for human
rights and investigation of past

and existing abuses
Codes
(A) Only () and (z7) are correct
(B) Only (i7i)) and (iv) are correct
(C) Only (1) and (zi1) are correct

(D) All four are correct

45.

46.
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Sfyereh ATIAN SRIEES! @eiieldeh! ShIoTd

FHROT AREAE TS STa A ?
(A) SEIH
(B) ShTewire
(C) e

(D) 9gu

STl giGTa AT et TS
HHEE Bl :
(1)

qof get=a deas el AN

AT HHEA B0

(i) HEETE T YA HIoITEe
Ti¥reor <o

(7z7) TonfTeh difcrEr=i qAeeon o
(fv) AFEl gFhMEE 3TeX fmfor o

g qareA 9 91 IRATIRrE SeRgi
Y

Heha

(A) TR (1) A0 (1) & R

(B) wH (i) M (7v) & R
(C) e (1) 3T (4i7) § N

(D) & =R & e eTed
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47. Association of South East Asian

48.

Nations was established in

Bangkok ................. .
(A) in 1962
(B) in 1961
(C) in 1963
(D) in 1964

One of the fundamental principles

of the defence economics is that :

(A) All expenditure on defence

forces are wasteful

(B) Till universal and perpetual
peace is established, there is a

need to incur on defence

(C) Defence expenditure must be
adequate to maintain the

security of a Nation-State

(D)

Defence expenditure is a

necessary necessity

JAN - 16318/III—A

47. <feor-qd Il WS ki HEY HEl

T el ?
(A) 1962
(B) 1961
(C) 1963

(D) 1964

48. TR ST T eryd dodl Ul

(A) W Td T B T

Sl

(B) S wfd Srifaer et T&MOA B

e, d wdd @ T SAavash

Sl

(C) ITsIr=A FRaaErs! R @9 &0l

TR TR

(D) TREUEA T & TR TR
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49.

50.

51.

Who wrote the book “Common

Security A Program for

Disarmament” ?

(A) Jawahar Lal Nehru
(B) John F. Kennedy
(C) Olof Palme

(D) Palmers and Perkins

The operational commands in

Indian Air Force are :
(A) 6
B) 5
C) 7
(D) 4

An arms embargo is an embargo

that doesn’t apply :
(A) To

behaviour by a certain actor

signal disapproval of

(B) To ban the export and import

and trade activities

(®)

To maintain neutral standing

in an ongoing conflict

(D) To limit the resources, an
actor has to inflict violence on

others

49.

50.

51.

JAN - 16318/ITI—A
“ i g T R fegsTae
1 GEIehTe eI hil ?

(A) AR T8&

(B) M. TH. Het

(C) eT® UletH

(D) Yo 3o qefeRq

RATT T TOME hEeEe s/

ThAG & Wy ST

(A) 6
B) 5
C) 7
D) 4

yreETe el st 8, fafd st
A KA A AR HROT

°h|‘5ﬁ| Sclleld Gh{UII*?JIi‘Of‘II BIMLEEIS

THRHE Flqag

(A)

3T fata sTfor =R SeeeR
ERCIGL

(B)

(C) |eA =T AECiedl Houid dee
et Serdl

TEEATT AAET OIS, 6]

STUMehed SaU-e] fedn aeeft Sl

(D)
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52.

International Law is skeptical
because origins of law are in
Western Capitalist tradition.
International Law only reaffirms
claims of the powerful. This is the

view Of cooeeneeeennn.. ;

(A) Radicalism

(B) Realism

(C) Liberalism

(D) Neorealism

52.

JAN - 16318/III—A

AW IR 81 UIHEEIE 3718 R,

fal

I SO UISTHT WIS aeTTa =i

T 3. SRR HEIET B ek
ST T ASEd il B gioeehH
Il IR

(A) HeIdcodl]

(B) dm&iEar

(C) 3HAAR

(D) TI-AAIAS

53. Which amongst the following are | 53. WIcliciush! IV SETELUN TEY LTI
examples of conflict management ? e ?
(A) Arbitration (A) <@
(B) Third party mediation (B) &= EXxcyl HeIrEeft
(C) Adjudication (C) famen
(D) All of the above (D) =’ wel
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54. Most of the UN Peace-Keeping

Operations are implemented by the
UN itself with troops serving under
the UN operational command.
Which of the following regional
organizations have also been

authorized in such operations ?

(A) North Atlantic Treaty
Organisation
(B) Economic Community of West

African States

(C) Coalition of willing countries to
implement peace-keeping
operations

(D) All of them have been involved
and can get the UN authorization

to implement peace-keeping

JAN - 16318/III—A

54. A=A SAUYATEE! St IR hTH

AT, T AT SEeH AT e
UG =1 hIFeTel el Sl ST
T HEATed] U], T Terieh!
HIoTeAT & FeeAr sfger fad
e ?

(A) 7Y Sfeeteier el SATHEZRH

o_n

(B) SehATHIh HEFAIC] Sh S 3ok

Ry

(C) ITaar TEVATHTST ShTHaTe! ShIom=T

IR QM=AT dA

(D) T TEOAERT A A SeEd

AfyeR feoel <9
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55. Match the following :

(a0 Immanual Kant

(b) Johan Galtung

(e0  Woodrow Wilson

(d) V. 1. Lenin

(1) Perpetual peace

(2) Liberal internationalism

(3) Structural violence

(4) Non-alignment

(5) Right to self-determination

Codes

(a)

A D

(B) (2)

©) 3)

D) (5)

(D)

3)

3)

(1)

(1)

(0

2)

%)

(2)

2)

(d

%)

(1)

(4)

3)
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55. Wcitd el oen
(a) THISA FC
(b) S T
(0 T dtered
(@ di. 318, Af

(1) Smeerd ST

(2) STRHEA AT TR

(3) TrEAIHE fEamEmR
(4) -3

(5) T HfehR
Hehdich :

@ b (o (d
A @O 3 @ &)
B) 2 B G @
© B 1 2 @

M G @O @ 3
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56.

57.

58.

‘Senkaku island’ in the Pacific Ocean

is a disputed territory between which

of the following countries ?
(A) China and South Korea
(B) Malaysia and Singapore
(C) Japan and China

(D) Taiwan and South Korea

The structure of the world system

influences :

(A) Defence preparedness

(B) Technological development
(C) Increase in economic power
(D) Behaviour of states

Strategic studies means only the

study of :

(A) Security affairs of the state

(B) Study of national security in a

wider context

()

Defence preparedness of the

country

(D) Defence policy

56.

57.

58.

JAN - 16318/III—A

TTCHEUhT IO SIMHES AT

YYNT HETEFRTA 9TehTe, J2HS]
Aqe ?

(A) == S0 WSy SR

(B) #aifvmn a7for fEmgy

(C) UM 3for =

(D) da Smfor 9y S

STfaeh HE A=A G9E TR
(A) &0 qIR

(B) TATHIIE GEmom

(C) eTfdier eKiAEA o

(D) T =

s 31 Wurs a7 foro=i=n a1y
'@'q :

(A) <= YAl SeHIe!

(B) <¥T=n FRiewqartas=h 1 fowga
T uteett
(C) TR EREo TR

(D) TI&OT et
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59.

60.

Which one is not a tangible source

of national power ?

(A) Public support

(B) Geographical size

(C) Industrial capability

(D) Human resources

The balance of power principle

usually served to preserve the

existing distribution of power :

(A) Among the great powers

(B) Among the haves and have nots

(C) Between India and Pakistan

(D) Among India, China and

Pakistan

59.

60.

JAN - 16318/III—A

| BN e ke o e R S e

HOE AR ?
(A) @ Trdtar
(B) wiriifesh SR
(C) frefies  &Fea

(D) AT A

[T Tl i TEvaEmet S-dde

qecaral ST Bl

(A) HEEREE

(B) 3mg Y offor et ¥ I

(C) 9RA oAfo Hifehea ar=ama

(D) YA, 99 9 UifR&™ I

31

[P.T.O.



61. Identify the correct code for the

Assertion (A) and Reason (R) as

given below :
Assertion (A) :

Information warfare is identified as

another new warfare.
Reason (R) :

Highly capable information systems
are a critical force multiplier and at
the same time a potential cause of

vulnerability.
Codes

(A) Both (A) and (R) are correct and

(R) is supportive of (A)

(B) (A) is correct, but (R) is not

correct

(C) (A) is not correct, but (R) is

correct

(D) Both (A) and (R) are not correct

61. I

JAN - 16318/III—A

~_ N

LI N W VN .
[QAICH] HenpdienlHen| Y Hendlen

faum™ (A) 31t &Rer (R) 96! faeT

faam™ (A)

Tk o1 g5 WA Hifgd! g fesel

A TR.

0T (R) :

fuToreh  SRIT T[UTeR SO T Sas

YA STRIE SR WU ISoaehEia™

et EA SR

Tehdich :

(A) T (A) (o1 (R) SRR 218 31101
(R) ¥ (A) 98I T 3T

(B) (A) FUeR 3T 99 (R) 9% M2

(C) (A) g% AR T (R) SR e

(D) =T (A) 3ufr (R) I T=d
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62. Identify the correct code for the

Assertion (A) and Reason (R) as

given below :
Assertion (A) :

Technology alone is insufficient to
bring about a true Revolution in

Military Affairs (RMA).
Reason (R) :

An operational concept is just as
important as technological invention
in bringing about Revolution in

Military Affairs (RMA).
Codes

(A) (A) is correct, but (R) is not

correct

(B) (A) is not correct, but (R) is

correct

(C) Both (A) and (R) are not correct

(D) Both (A) and (R) are correct

JAN - 16318/III—A

oo N

62. et feetean SehdienTuent (A) faum arer

(R) &0 ¥ IdFY Hehdish 2@ :
faam (A)

AR FRYR shidl (RMA) T 319

SIS, ek T QR ATel
T (R)

AR HRYR Hid SIS qo=H

foroereh e A0 Yo osehil shaTs

HhedAl HEcaTdl 3R,

Hehdieh :

(A) (A) o) &R 901 (R) I TR
(B) (A) I&% 38 90 (R) R 3%
(C) 3 (A) afor (R) 9% TR

(D) T (A) 1 (R) sRIeR TR
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63.

64.

The Micro Aerial Vehicle family

consisting of Mini, Micro, Nano and

Pico Air Vehicles have dimensions

ranging from :

(A) 500 — 0.15 mm

(B) 1500 — 0.25 mm

(C) 2500 — 0.35 mm

(D) 3500 — 0.45 mm

Stealth technology is also known

as :

(A) High definition technology

(B) Low observable technology

(C) LO technology

(D) Ideally visible technology

63.

64.

JAN - 16318/III—A

Y&H TG dled Teld HIHl, HER, Al
g Tyl gaE e 9RAEN "Eier STl

A

(A) 500 — 0.15 mm

(B) 1500 — 0.25 mm

(C) 2500 — 0.35 mm

(D) 3500 — 0.45 mm

LY

AR T R Al e’ SR

(A) BT SHATHE I

(B) oy Fréeu o

(C) TA. 3N doFH

(D) AT I TIAAE
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65. Which one of the following was not

marked by the Kargil Review
Committee as the basis for
reviewing India’s national security

system after the Kargil conflict of
1999 ?

(A) The Kargil experience

(B) The continuing proxy war by

Pakistan

(C) The prevailing nuclearized

security environment

(D) The inadequacies of national

security strategy and policy-

65.

JAN - 16318/III—A

1999 T Hiel TEEHAA qRAT TS

FIAAT TG SR wFfe FrHd,

ETTAUsh! HITAT o MR |
et ?
(A) &FA TI9a

(B) uiferEare wfaffees g A

(C) AfEdcard stqalel effuaes {Iam

EIGISI

(D) TS GRferre WHRes =it o A

IR HIOATAA el

making
66. Which amongst the following does | 66. WelcIushl iVl F&H/ATHEH FaTe ATe
not constitute Micro/Nano Air T :"_Ea. ?
Vehicles Missions ?
(A) TSI FERO
(A) Communication Relay
(B) Electronic Warfare (B) ° 38
(C) NBC detection (C) NBC ¥
(D) Minerals detection (D) &g MY
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67. Adam Smith’s views about defence

economics may include the

following :

(1) Military force was necessary to

protect society

(i) Professional soldiers were

necessary

(7i1) Since defence was for common
good, all should bear the

expenses

(izv) Payment was to be made on the
basis of “payment according to

benefit” principle :
Codes
(A) Only (1) and (z1) are correct
(B) Only (1) and (zi7) are correct
(C) Only (1), (i1) and (i17) are correct

(D) All four are correct

JAN - 16318/III—A

67. WIeiiclueh! Ir= THEY 3feq feme=a a4

Teur 37RO UNT 3Te :

(1) THSATSAT TRETUMETS! ook STkt

TR L.
(77) FIEIfges FuEEl Evged.

(777) TXEIU ¥ WESIh B IS WA

T T At "gq hell difes

(Iv) ' RIIRIT MYNER &Ry 3TE] hivl’

T TecalTal WehH 31T hivl SEavIeh.

- -
-
-

(A) T (7) 3Tfor (i) SR 3R

(B) Wad (7) 3T (777) SRR 3T

(C) % (), (1) 3 (j77) TR TE

(D) W& ARE SRR T
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68.

69.

Choose the correct code :
Assertion (A) :

India is self-sufficient in its defence

production.
Reason (R) :

India has 8 DPSU and 40 Ordnance

Factories.

Codes

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are not correct
(C) (A) is correct, (R) is not correct
(D) (A) is not correct, (R) is correct

Which of the scholars opined that

“Terrorism is theatre” ?
(A) Richard Jarvis

(B) Max Weber

(C) Brian Jenkins

(D) Noam Chomsky

68.

69.
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SeR Hehdleh el :

faam (A) :

TR IAEAN IR WA 3.
%ruT (R) :

qRarehe 8 DPSU 10T 40 T&iest
HREM AR

Hehdich :

(A) = (A) e7for (R) SRR oTe
(B) Tl (A) el (R) <& o8
(C) (A) R o (R) I 318
(D) (A) 9% o7for (R) SR 378

TEEE ¢ T U 3T 3T i
Tq 3T ?

(A) = SIRsdg
(B) W =R
(C) s STehid

(D) A\ =Rl
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70.

71.

72.

After a decade of being strategic

partners, which year did India and
Vietnam upgraded their relationship

to “Comprehensive Strategic

Partnership” ?
(A) 2016
(B) 2015
(C) 2010
(D) 2007

Concept of massive retaliation was
spelt out by :

(A) N. J. Spikeman

(B) Karl Haushofer

(C) John Foster Dulles

(D) Halford Mackinder

AGNI-IT is :

(A) Ground to air ballistic missile
Air to air missile

(B)

()

Submarine launched ballistic
missile

(D)

Surface to surface missile

70.

71.

72.
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' EgHTEYI e 9Terl’ 3T gey
YURUIEE! R oA1f fegueas At

HIUTCAT TS, SRR FHREh MR

9 e 2

(A) 2016
(B) 2015

(C) 2010

(D) 2007

STRGET UfaST & Heheu 1 vl Hisell ?
(A) . . TEHREA

(B) el BIRMH

(C) S HEX s

(D) Be®IE HiehweX

ST I % :

(A) S gad AR SHvard Qo

(B) TAqA B ANl HIUATE  QUMEH

(C) STERIEEd AR H{vIE QYU

(D) YHUNTEET YHTER HE HI0MR
U
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73. SAARC  Convention for the | 73 e ot geeeme wufavard o
suppression of terrorism was signed TRy T S 2
in the year :
(A) 1987
(A) 1987
(B) 1988
(B) 1988
(C) 1985
(C) 1985
(D) 1986
(D) 1986
74. Which organisation has the largest | 74. IV HeEAehe Hald HIS SATAN YHTT
free trade area ? a2
(A) North American Free Trade 0
(A) 7t REA W IS TH
Agreement
(B) South Asian Free Trade (B) W9 SRM™EA Wi 2T 37fide
Agreement .
(C) ASEAN Wi J€ ofifiHe
(C) ASEAN Free Trade Agreement
(D) SAARC stifiHe
(D) SAARC Agreement
75. “Indian Space Research Organisation” | 75. WG 3TEehITI TeneR e (ISRO)
(ISRO)is situated at : FIoe fehmon e ?
(A) Sriharikota (A) #iedere
(B) Bengaluru (B) ﬁ"'l?g”{a
(C) Pune (C) 9o
(D) Chandikapur (D) =<TeRTgT
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ROUGH WORK

40



